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Electronic (=58 ¢ a2l

FIDALLED © CRETIEY Slag b Jald alliae | 1 ]

s sal dlaa SESNIAD ¢ EAID

If the given equation between the charge in
coulomb and the time in second is,

q=Xt3+5
When the current is equal to 60 milliampere
at t =2 s. What is the value of X in C/s3unit?

ol oSl Baa g Adaudl) (y SUanal) ABDal) il 1)
DR Al Bas gy a3 g

q=Xt3+5
stal-grlle 60 (s sl (Al gl Ll Bad cuils g
TCIs3Baag X JNala t=25 el aie

A 2.5 x10°° B 5.0 x10°3 C

D

2.5x107 4.0 x102

GODANLED © EREIES oy b Juald Alllae (2]

Cin sad Saa o CENIED

Two wires X and Y , X with cross-sectional
area equal to (5 X 10°m?) and Y with
cross-sectional area equal to (3 X 105 m?)
If the two wires are carrying the same
current, which of the following is correct
about the current density J in the wires ?

) phaial) dalua Y 3 X (Slaga glsl
(gl adalal) dalea 5 5 X 109 m? (X)) il
CaSlad) (A 5a 13, 3 X105 m? (Y ) dlull
JL._I‘.'I.“ &ﬁﬁw G}M gﬁ‘fit}ng’l Aol JH:'“

o) (8 T (Alygsl)

=y
3

_9J;
Jx=75

B

A JIx

Gl

PDALNGD © AHERIES ey b Juald alllae [3]

O el dlaa GESANAD ¢ NENED

What is the resistance ( R ) of a silver wire

(p=1.62%x10° Q.m), has a length of (3.0 m)
and a radius of (52 mm) ?

(P =1.62%10% Q.m ) &ail) (ya lles Lo glia Lo

(52 mm) s kd Ciai 5 (3.0 m) sk

Al 19x10€0Q | B | 26x10°Q

3.4x10° Q D | 5.7x10°Q

GIRALLD © GRERIES ilay B Jald alllae

Cyin sad slaa o SENED

The figure shows two resistors
connected to a battery .

If (R1=3R2).Whatis the
resistore (R2) ?

ONlucia Cpraglia jglaall (K& el
s(R1=3R2)&315'I:\1.1:U&*1
T(Rz)aajlial\JiﬁnLaé

10 Q 20 O

40 Q

(0507438910 ) cpadl — lay b Jualb alline BF




GEORALED © GRHENRIES Glag 8 Juald alllae [5] Crin jal dlaa SRV o NENAED
What is the equivalent =

Byilall Asdlsal) da giall e

resistance of the circuit shown R:=40Q ¢ slaall i) 8 Al
in the figure ? é 4l > §
)

=seg

>

A 2Q B 40 74 Q D 22 Q

DL © BEHERIES Cilag b Juald dlliae O yaddaa  GERIAD ¢ ENED
Neglecting wire resistance. All & 9. Bl daglia Jlaaly

Resistors are identical . Bel 8 b | Alilaia cila gliall
The Ammeter reading (current) B 0985 () Bk ) i)
is the least when switching off : T G A Sala

S1 only Lis S,

Sz only hié S,

Ss key hiéd S3
Sz and S; together e S35 Sy

GIDALL(D © BEENIER Glag b Lald dlllac Gua jal e SERWNA0 ¢ SEMNED
An electrical device written on it Ao G gisa Al S e
(1500 W, 200V). T Ly .(1500W,200V)
Then the current passing through /i TR ) B lall Ll Bad o\
the device is equal to : g Slagan i 1 g g

A | 013A B | 274 A : D | 26.7 A

GEDALLD © GEERIS Gilay 8 Jald alliae O sal e SERVNAD ¢ PECIED

What is theammeter reading il oda A i) Bel B La
in this circuit?

A 0.0A B 20A 28 A D 7.0 A

(0507438910 ) Cpad) — lay b Jald lline 25 5 80 (0556148911 ) (ubis) - (mn sai dea




FDALED © GREER

cilag b Juald alllae

EN

i pad dlas R ¢ CEMNED

According to the figure .
Find the equivalent

resistance [ Req | and [ i3]?

i=12A

ICEATRE
[ Req | 33l A81<al) 4a gliall La

»
2A

+
=V

[ 3] S 8 Lag

Req=1OQ and i3=6A

R9q=11OQ and i3=6A

Req =10 Q and l.3 =0.6 A

Req = 11OQ and i3 =0.6A

FEDALLEED © AHERIES

Slag B Jaald Alllas

[10]

e i daa  GOWRNAD ¢ SEHED

What is the current flowing
through the loop shown in
the figure ?

L SEEEARE=40.0)
—H W
Vi=12V

V2 \"/

P RPN VI i | g K P
¢ JSall A Ayl dalay) b

6
I

VWA

1
R =0pie ane e

0.2 A Clockwise

A

delud) G i 20 0.2 A

0.6 A Clockwise

delud) qulis 24 0.6 A

0.6 A Counterclockwise

deludl e (use 0.6 A

0.2 A Counterclockwise

B
C
D

delud) o lie (use 0.2 A

GIDYLED © CEERIES

Gilay b Juald dlllas

SORNND ¢ EIFD

(s jad dlas

Which of the following is
correct for the reading of
ammeter and voltmeter ?

dasaa 401N & jlal) Lfi

o
\),

Sl Be A Al
¢ Al g

i=15A and V=30V

i=0A and V=15V

i=0A and V=30V

i=0A and V=0V

(0507438910 ) Gl — cilay b Juald lliae 5

L (0556148911 ) bl - (man sai dlaa
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FDALESD © CHERES Cilag b Ll Alllae

[12]

O el daa  SERVAD o VEMIED

Amter works with an indicator and has
resistance ( 60 Q ) and maximum value for

range (1.0 mA ) To use ammeter to measure
more intense current requires we connect
amiter with relatively small resistance in
parallel with the ammeter.

What's the maximum value of current can
be measured if it is connected in

parallel with resistance ( 5.0x10° Q) ?

<l g (60 Q) dagliadd g sdisas Jany sl
Sl asdiend | (1.0 MA ) Ade gl Aad
Aaglia; JiraY) Jua s qllaty ) 30k 4l L (Ll

o ) aa gl o Luud 5 s

$(5.0x10%° Q) dagliay 5153 o

A 12.00 mA B 13.00 mA

12.00 A D 13.00 A

GODALLED © BRGNS ilay B Juald Alljas

[13]

Oua el da  GORAD ¢ GENOED

An RC circuit consisting of a resistance
(R=1000 Q) and a capacitor and battery.
The charge on the capacitor as a function

iigs 3 (R=1000 Q) pstis ¢ 523 RC 3
@3@yiga15_M1muhﬁ,a§JmH

of time is given by: q(t) = 1.0x10

—4(1 = e—t/0.00l)

4y Uataal)

What is the capacitance and potential
difference of the battery ?

© il L g gl 36 g LBl s La

1 mF

1 uF
i 0.01V

0.01V

C

A B

1 mF

1 uF
= 100V

100 V B

FEDANLSH © GHERIES Glay 3 Juald alllae

[14]

Oua it SOUIE0 o DENED

An uncharged capacitor

4" ¥ - \ﬁf *ﬁs

( C =14.9 pF ), a resistor
(R=24.3 kQ ), and

a battery (V =25.7 V) are
connected in series , as
shown in the figure.

What is the charge on the

Alagliaaglia 9 (C=14.9 pF)
Waga 4 ks (R=24.3kQ)
S Oilaia (V=257V)
LSS (b daga gh LS (N
GsSa Ladie CiiSal) diad )aka La

Capacitor at (= 0.3621s )

¢ rldal) deay (£=0.3621s)

after the switch is closed?

Al 115x10°C | B 7.94x10° C

1.66x10*C | D 2.42x104 C

FIBARESD © GRERES

What is the physical quantity

Cilay i Juald dlljae !15!

agall @8 il ad o ABal)

Oyl daa  GERAAD ¢ PENED

Letiay Al 43 3udl) 43as)) La

represented by the slope of
the straight line in the figure?| £

A | The resistance R 44 g\aal|

?JJL).J‘M’I@&MiLﬁ\‘_}y

B | The resistivity p 4 sil) 4a slial)

¢ |The conductance G J=a s

D | The conductivity o “hasall

& (0556148911) olisd - (e jai dbas




GIDANLED © GRERES Cilag )8 Juald 4lljae

Cyesn yad dlaa ERRAD ¢ CENMNED

A student put a set of
Compasses in the magnetic
field as shown in figure .
which of these compasses
not work properly ?

O e gara illla puag
(rsbalial) Jlaal) & g gl
Jaxi ¥ s sall 038 (a5l

§ raasa Jsdu

A

1,8

1,4,6,8

1.,2,8,9

1,2, 5,9

GERANIED © GHERIES a8 Jald Alllae [ 17 | Ca saddaa  GERANAD ¢ PEHIED

A coil is composed of circular loops of diameter
8.4 cm and has N = 78 turns . a current

i = 3.14 A flows through the coil which is inside
uniform magnetic field of magnitude 0.85 T .
What is the maximum torque on the coil due to
the magnetic field ?

LAl sas 9 8.4 om W ka8 4 4ila cilBla, (e Cila () S
cilddl pag =314 A 400l LSl a9 N=T78
.0.85 T o,Mha plitia aukliia Jlaa b

¢ uhlinall Jlaall Aol Calal) 3 g aje i La

A 1.15 N.m

4.61 N.m

C

55.0 N.m D

110 N.m

FERNLLD © LHERES

Gilag 58 Jald lllae

|18 ]

Ouﬁﬁ.\ha

SEHNAD ¢ PP

Which of the following rows show the
correct position of the magnetic poles of the
magnet and compass ?

Cisiaa gl ¢ pubiliie (GG A gy JSE) (o
a8y pudn ga g JS Cp AEN Jgand)
¢ Al gul) g dualalinal)

A

N

A A B B

=) %@;j
=

DG © GRENIES elay b Juald Alllae [19]

n jadda  SOUAIA0 ¢ T

The figure below shows loops placed in the
same magnetic field in different orientations.
Which case experiences the highest torque?

M\uﬁgﬁk‘y&ym&au.ﬂ JSad) s g
2SO A o, Allida clalydl b dlisal)
Qs a s

B




IOBALLLD © CEHERER Cilag 8 Lald Alllae

Cria jaidlaa  SESUNAD ¢ CENED

A circular coil with a radius of
10.0 cm has 100 turns of wire
and carries a current f =100 mA
It is free to rotate in a region
with a cons tant horizontal
magnetic field given by :

10.0 cm o k8 ciuai (g Jila cila
S A gy 948 100 e CSh
29% ¢ 1 =100 MA 45ad Al 448

Jlaa 13 dlhaia A Cilal)
:Mudﬂqﬁgﬁiwb&a

B = (0.01 T) x. If the unit normal vector to the
plane of the coil makes an angle of 30° with the

horizontal, what is the magnitude of the net
torque acting on the coil ?

axia g8 13, B=(0.01T)x
e 30° Agl) ey cilall mhas o (53 ganl) Bas gl

,“,35‘?'!‘53“1
¢ cilall B il ajadl j)aia Lad

A 1.57x10" Nm| B

1.57 X108 N.m

C

1.57 X103 N.m | D | 1.57 N.m

GIDALLLSD © GZERED Glay 8 Jald alljae

[21]

Gua jad s GORWAD ¢ VEHIED

Which is the equation
of the magnetiic field at
point P according to
Biot - savart's law ?

Lg-aladiina) (ySay At} cABMal) g
Ao anhaliiall Jlaall sy
Bl - ga (938 Can P Adadl)

A

dB = o ids sinf
2T r2

C

E._uoidssinﬂ
dB = gn—

TEDANGSD © GEERER Silag ;i Jale alliae

Cyun yai dlaa SEAAS ¢ CEHED

What is the constant ( W, ) called ?

¢ (M) il o (3l Vile

The magnetic permeability of free space

£ Al Apoulalia al) 43041

The magnetic conductivity of free space

£1 AU Ll Lo

The magnetic resistivity of free space

1 Al ddalinal) dra glial)

The magnetic relativity of free space

£1 AL Loaolial) Lol

FEDANLED © GHENES Gilag b Jald dlllas

G i s GOVNA0 ¢ QENER

The direction of the magnetic
field at point (a) : N

e S

8 L aaliaal) Jlanal) ol
GsS (a) Akl Mie Ll g e
19

A| S <sa |B| N Jldé
FIDALLED © CRERES Glay 8 Jald 4lljae

1c]

[23%]

W < |D|

E - =
Oin jal s GEHUNAS ¢ CEHNED

The intensity of magnetic field is measured
in Tesla ( T ) . what does one T equal to ?

(T)MSA;,QHUMIJI.)ASQWL‘ES
¢ T aalg 5 A5 1ia

AI1T=1N.Am | B | 1T=1N/A

1T=1N.C/m | D [1T=1N/(A.m)

(0507438910 ) el — clay b Juald allise F

o (0556148911 ) (pise) - Gus jaidea




JSagl gl daalsall - 12 ADV_C- SECOND TRIMESTER - 2024-2025 PHYSICS <Lij

GEONLED © GRERIER  cilay b Juald Allas [ 24 s saldlas  ERANNA0 ¢ DERIER
Use the graph shown to find the charge on the Latie Sl ddacdi aa gl ) glaall JSEN) o Jalale

capacitore when (£t =2 T) (t=27T)0sS
q (mc)

. 0 t (ms)

0 01 0.2 0.3 04 0.5 0.6 0.7 0.8 O.

A 1.35 mC B 3.68 mC 6.32 mC 8.65 mC

FADALED © GRERER Gilay 8 Juald alllae (s jai e GEHUIA0 ¢ GENED
Calculate the amount of : 7 : B Cauua  glaal) JSEI)
magnetic field at the g ; dhill) die dilizal) Jlaal)
point (2) and determine ha s N ) . 4alad) s g (@)
its direction .

1.8X10*T 1.8X10% T 20x10°T
A | Downward Upward Downward Upward
Jiu¥) gai eV gad Ji) gad V) s

PEDALESH © GEERES Glay 8 Luald alllae O jal dlaa  GERANAD ¢ CENED
The figure shows a wire with 4y yas Mua ga Wi JEI) Gy

current (I ) running through £k oo ix i oan L
it out of the page. . g A eade (DK

What is the direction of the Ll hiliaadl Jlaall olad) La
magnetic field at point (A)
due to this current?

f(A) A Sio L3 13 oo

= |

(0507438910 ) cpad) — clay 4 Jald alliae <2710 €= (0556148911) (2hisd) - Cuin sl dlaa




JSgll Auilgll) daal jall - 12 ADV_C- SECOND TRIMESTER - 2024-2025 PHYSICS <Lij
TODANLED © ERERES Gilay B Juald dlllae [ 27 | Qe jai b SERANAD ¢ CENED
If (B= Hol ) for the magnetic field at die pwnhlie Jaal (B = Hol ) «ils
X T " X i

a perpendicular distance ( 71 ) from along | Jas: asfiua Jash dlla Ga (7)) 4a gandl A8Lucall
straight wire carrying a current. What is X ¢ X ke, IS

A T B 27T C 4T D ATCTr

FEDALLD © EHERE] Glag B Juald dllas [ 28 ] Cua pad b GESUAG ¢ CEMED
The capacitor C in the circuit : G die ¢ Gadia g2 (C) Sl

below is initially uncharged. 5 Auid) e e 1 e i)
The switch S is then closed. Jaal Al cila g ) 61 (S) T

Which of the following best psiall B JLall () LSl Bad s
represents the current i through

the resistor R as a function of
time £ ?

(1) &M B4 (R)

i
A

f 4

TIDALLD © Cilay 8 Juald dlljae Oma jad dhaa GESANAD ¢ PEMNED

According to the figure, if the reading of el el i calS 13) ¢ JSE L
the sensitive ammeter(A) is zero a5 gbaads (A)loall

What is the electric potential difference |q. P50l i) o el 3 e il
between d and b ? bl o

A 0.0V B 1.0V . D 9.0V

GEDANED © GEERHES Gilag b Jald dlljae [30] Oen jal dlaa  SEYANAD ¢ TENIED

A 1pF capacitor is fully charged and Joasi iy ¢ 1 pF ainn JalSIL () saidia (oS4
1 KQ resistor is connected across in series Gl e oS A e sl e ] K el
with the capacitor. How long will it take SaiSall 8 45 Haall Aandll 100400 Al ) (3 jrieass
to remove 90% of the stored charge from )
the capacitor.

FODALLED © GHERIES clag 8 Juald alljae Oms jai dlaa SEHWIAD ¢ CENIED
In the circuit shown in the 8 glaall 5l
figure, when the switch S 60 [ 12Q 7 | S guied @ my
closed.What is the equivalent|— 4 —— | Ai8lSal) Aa gliall laka La

resistance between two : ¢ bhsa GEbul G
points a and b ? R=0

Al 000 B 12.0Q D| 300Q |
(0507438910 ) Cpad) — clay d Jald alliae <27 11 € (0556148911) (2bisd) - Cun sl dlaa
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Paper part 2.5 sl

FIDARLGSD © EHEREY cilay 8 Jald lllae [Q-1] Cmin jai dea  SORANAD ¢ VEIFD

A wire was connected to an electric circuit .
The reading of the potential difference
between the two ends of the wire and the
currunet passing through it were recorded

AR el B claa 9, Aadly g8 30 & s Juag
Uil o LS A el L1 g ol i 2

as in the following table :

A==

Electric potential

ditference (V)| SHITentA)

s g G A

0.0 0.0

4.0 3.0

8.0 4.5

12.0 5.3

16.0 5.7

V(v)

potential defference and electric current .

Graphically represent the relationship between O AN} (Ald) s b Jia

Sy gl (g 8

Is the resistor ohmic ? Explain your answer ila) b € agl agliall Ja

the resistance of the resistor from the

graph when the potential difference is
equal to (6.0 V).

Refer to your graph in section A calculate  4law 53 Abal) sl (0 pglial) da glia G

(6.0 V) st 2l 3 b Lasie A gl G

(0507438910 ) Guadl — oy 8 Juald Alliae <




GODANLED © FHERIES Cilag )b Juald Alllae [Q-2] G pai dbaa  GERUNAD ¢ PEMED
The figure shows an electric : 5 (55 Al S B ila JSAN Gy
circuit that contains three i1 I3 LA ey dlatia cila glia ENG
resistors connected with —>—AA P (R1) Csaghiall b ol uall o il
a battery.The current through o I2 Lk u.uS:)ﬂ'l & (R3) 3
(R1) and (R3) respectively are |+ < »

n (I3=20A) s([1=8.0A)
(14

(I1 =8.0 A) and (Is = 2.0 A) -

|
Calculate the current (2) through the resistor (Rz2). ? (R2) psiall (A Jlall (72) LU iaka La

Calculate the potential difference for each of the resistors (R1) and (R3).
¢ (R3) 3(R1) Oasall (e JS Ak G 2gal) (58 )dka La

(0507438910 ) cpad) — clay 4 Jald alllae <27 13 € (0556148911) 2bisd) - Gun jai dlaa




GIDALED © GERERES Gilag b Juald Alljae [Q-3] G sad daa  GERW0AD ¢ PENED
In the circuit bellow , : S 2ay oL} B3 B
after the switch is closed . 2(S) zudal

$
Sa]e Samach s

6V 4V
]

What is the currentin (R=10 Q)and (R=6Q)
(R=6Q)3(R=10Q) 2 jall il 32di La

................................................................................................................................................................................... i(10) = 0.057A
............................................................................................................................................................................................................................... i(6) = 0.57A

What is the currentin (R=10 Q) and (R = 6Q ) After opening the switch
la) b 3 (R=6Q) 3 (R =10 Q) o Jall Ll 825 La

RS

i(10) = 0.0A i(6) = 0.55A

(0507438910 ) cpad) — clay g Jald alliae <27 14 €= (0556148911) (2hsd) - Cun jai dlaa




GIALD © Glay 8 b dlljae Omin yal e CEUAD ¢ CECIED
As shown in the figure a positive = ; Ggadia ppd LB8 | ) glaall JS) (B

charged particle of mass A
(mEEi.ZpZX'i(}“17 Kg) and (m=5'22X10-17 Kg ) 4t

charge (q = 5 nc) is ejected | Lages (g = 5 NC) dua ge diindi

vertically in uniform magnetic 3 . _
field (20 mT) at a constant (20 mT) pkiiia bl Jlawa 2

speed V =4x10* m/s. L(V=4x10% m/s ) b de s
answer the following:

Determine on the figure the direction of the force and the direction of the circular path .
@A lal) slal) g5 g8l) olad) Jldl) o sas

Calculate the force acting on the particle and the radius of the path.

el il g aseall B8 fiigall 5 58 e S Guna

Suppose the direction of the velocity at which the proton is travelling changes , so that the
direction of the celocity is not perpendicular to the direction of the magnetic field , and is
also not parallel to the direction of the magnetic field. What happens to the orbit of the
proton’s motion inside the magnetic field ? Explane Why ?
oladi) o L gas day ol de i) olad) () Cuag ¢ il 3B () 93 g jull L & a3 54 Ae ) alad) (o)) i B
JA1a (gisol AS e e kg 1k, L oaalaliial) Jlanal) olad¥ U1 sa (il g (omualaliial) Jlanal)
¢ ) gy ¢ (pualalinall Jlaal)
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.

( Figure) shows a charged A () adia anesny JSA) el
Particle its mass 2.67x10%¢ Kg B2 ‘3;,9"'@"-.. U9 (2.67x102%6 Kg)

the radius of the circle in which | o o /f@ ® ® (0.03 m) o_kd ciai sl

the particle is traveling is equal / (2.15x10* m/s) 4

(0.03 m) and the velocity ® § ® ® ©® e ool ga g1 ()99 olaily
® ®

(2.15x10* m/s) the circular pla> = (ruhalia Jlaa 5 g8 iy A L)
rotation direction is clockwise . paticts . (0.06 T) 4dad lada aliite

and uniform magnetic field ® ®%® ® ®
0.06T.

rd
® @ ® B8 © ®

Calculate the amount and determine the type of charge of the particle.
avend) Adadi £ gd aaa g e Camal

Calculate the acceleration of the particle .| Ignore the effect of earth gravitation |
[ A i) dladl L8l Jalad ], aswad) £l Guua)

In what direction must the particle be moved to continue its movement in a straight line?
§ adiiaa Jad (b 43S Al Cun anwaad) @l Al caag olad) o) A

GOBALNEED © CRERIES clay b Jald alljae [Q-6 | G i s GPRANAD ¢ PEHIED
A straight conductor of length (L) carrying Jae A puda g (1) S Jaag (L) b asiinie Juaga
a current (i) is placed in a uniform magnetic L JSa A Las Adlia pla o) DG 8 (B) aliiia oauskilita
field (B) in three different positions as shown in L O g Jshall g Jlaall )ha (i ADEY plia U Lale
fiqure. Complete the table. o ey Lay gl Jas]

Force 54!l

Diretion o)

& (0556148911) olisd - (e jai s
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According to the following ' Al sl 3 ) e falaie
electric circuit and the ﬁ!\ A i st
data it contains : ), Pl Al alibdls &

vV
40

Find the reading of Ammeter A . A ) Bs) 2

Calculate the potential difference between
the two terminals of th battery Vs
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A loudspeaker produces sound by exerting a | Luhlies g Jh &b o Uga cigall ya il
magnetic force on a voice coil in a magnetic Tasa 9 LS ¢ puunhlitag Jlaa b Ciga dile o
field, as shown in Figure. The movable voice RSadag Ay @l atal) calal) Jualy | oUia) Joid) B
coil is connected to a speaker cone that Jlaal) Z U allyg , <l ) U (e J glpnal) & gusl)
actually produces the sounds . The magnetic 9 LS Gailall aelalinall A (pa dalineall
field is produced by the two permanent (B=4.7T) hliall Jlaall iia oSy, zuiaga
magnets as shown. The magnitude of the ¢ (0.03 m ) okl 1) &guall Cala ¢y oSy
magnetic field is (B =4.7 T ) . The voice coil | L dliaa) 560 ke Sy g elladl e 4d1 (220)
has a radius of ( 0.03 m ) is composed of S b i) e nhaliiall Jlaal) Ledd A
(n =220 turns ) and The magnetic force (5.2x103 N ) <pall
exerted by the magnetic field on the

loudspeaker’s voice coil is ( 5.2 X 102 N )

Back plate
A e Top plate Frame
solevaf B

Speaker cone i gall Sa kg i
(b) (c)
FIGURE Schematic diagram of a loudspeaker:

(a) an exploded three-dimensional view of the driver end of the loudspeaker;
(b) a cross-sectional side view of the loudspeaker;

(c) a front view of the driver end of the loudspeaker.
g Sl ahdl o SO
Cigaall s il Al A e JBia (@)
gl pSal (o all pdallall aila Jlia (D)
Cigual) giSa il el lala (C)

Calculate the magnitude of electric current . il cilile B jlal) Al gt Ll jlaia Guwal
passing through the turns of the coil
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